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T % | Uf‘ If 3 Utr Up Io Ip Ug max Ig max f Unin=-max
‘ VI A |V ' mA mA ' mA °C
S5/6i RFT 1 5 7 5000| 5000 ; 2000 | 6000 —320 300 +15+- 435
S$5/20 i RFT 2 {5 j15 5000, 5000 6000 | 20000 —320 200 +15=435
Ste 5000/5/15 | Sim 6 |52/10 (5000 5000 5000 | 15000 —500 +20= 440
Ste 5000/10/30 | Sim 7 |52]|145 {5000 5000 | 10000 | 30000 —500 +20+- 440
Tr 1-2,5/4 CCCPl 3 |5 |12 3000| 4000 2500 | 8000 — 16 —60=+70
Tr 1-5/3 CCCp| 8 |5 |21 3000 3000 5000 | 15000 —100 —20= 460
Tr-2,5|5 CcCccpp 3 !5 13 3000 2500 | 8000 —18 —20++450
Tri-200 CCCP| 3 |5 |20 3500 2000 100AY) — 20
3G6 Fiv 5 {5 7,5 15000 | 10000 1250 | 5000 +20+ 460
3V/490 A STCE 4 |5 |10 |2500| 2500 6400 | 40000 —9-+—1000, 250--1000 | 35+ 480
628 A Wst 5 115 2500 2000 | 8000
873 amer 5 |5 6,75/3000 | 10000 1250 | 10000 —55 250-+-1000 | +-20=+70
1) impulse maximum 20 psec.
Equivalents

BT 1 CCCP = Tr-2,5/5

MTII 2 CCCP = Tru-200

Tr 1-2,53 CCCP = Tr1-2,5/4

r-8/3 CCCP = Tr1-2,5/4

Tr-8/3000 CCCP = Tr-2,5/5

Tr-15/3 CCCP = Tr1-5/3

WL 628 A Wst = 628 A

676 amer = 3V/[490 A
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